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	1) المعكوس ، المحايد المحايد الجمعي :

  
 أ)   - 7       5            0       0
        2     - 3    ،       0       0
  

 ب) 0    2   -1     ،    0    0    0

  

 جـ)  -3      5     - 7         0     0     0

        1      0       8    ،    0     0     0

       -2    -4       -1        0     0     0

 

 د)       7                0

         - 5       ،       0        
          8                0


2) أ  +  ب  +  جـ   
 

    5- 1+0         4 – 2 + 7         4    9

=  2 + 3 – 1     3 + 4 – 2   =    4    5

ثانياً : أ  -  ب  


     5 + 1       4 + 2        6     6

=  2 – 3        3 – 4   =  - 1   - 1

ثالثاً : أ  -  ب  +  جـ   
 

    5+ 1+0         4 + 2 + 7        6   13
=  2 - 3 – 1       3 - 4 – 2   =  - 2  - 3
رابعاً : ب  -  أ  


     - 1- 5       - 2-4         - 6  -6 
=   3 - 2        4 - 3   =     1    1

	3) 2 أ + ب 
 
    1×2     3×2     5×2      -2   -6    -10
=  2×2    -4×2     6×2 +  -4    8    -12

   -1×2     0×2    -7×2       2   0     14

 

      2         6        10       -2   -6    -10

=   4         -8        12   +  -4    8    -12

    -2         0        -14        2   0     14

 

     0         0         0

=   0         0         0

     0         0         0


4) 3 جـ   =  2 أ + 3ب 


3 جـ   =   3×2     0×2        5×3     7×3  
             -9×2    -3×2   +  -1×3     4×3   

3 جـ   =      6         0           15       21  
              - 18      - 6    +    - 3        12   

3 جـ   =     21         21          
              - 21         6    

3 جـ   =     21       21          
 3              3         3
              - 21        6   
                 3         3 
  
   جـ   =      7          7          
               - 7          2   
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5) 1 أ  + 2   1   2  - 3           5   8    2
    3           0    1    2    =   - 3   4    1

                -1  -2    1           6    3    2


    1 أ  +      2   4  - 6           5   8    2

    3           0    2    4    =   - 3   4    1

                -2  -4    2           6    3    2


    1 أ  =       5   8    2           2   4  - 6           

    3           - 3   4    1    -    0    2    4    

                  6    3    2         -2  -4    2           


    1 أ  =       3   4     8         
    3           - 3   2    -3    
                  8    7    0         

بضرب طرفي المعادلة في ( 3 ) :


       أ  =       9     12     24         
                  - 9    6      -9    
                  24   21      0         



6) 2    ك     - 1              2     ل
          6      ن      =  3   م      4


    2    ك     - 1              2     ل

          6      ن      =  3   م      4

          2ك    - 2              6    3ل

          12    2ن      =      3م    12
	2 ك  = 6     (   ك  = 3

3 ل  = - 2   (   ل  = -2/3

3 م   = 12   (   م  = 4

2 ن  = 12   (   ن  = 6

 (                     (                     



